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fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL 



 

[Type text] 1      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

ehd;F (04) fl;lha tpdhf;fs; 
(20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 07 – njhopw;gL %yjd Kfhikj;Jtk; 

njhopw;gL %yjd Row;rpf; fhyk; – 15 ehl;fs;  

   Fwpg;G 2023 

njhf;F ,Ug;Gf; fhyk; 1 73 

fld;gl;Nlhu; ,Ug;Gf; fhyk;   - 

    73 

(-) fld;nfhLj;Njhu; nrd;kjpf; fhyk; 2 (58.4) 

njhopw;gL %yjd Row;rpf; fhyk;   14.6 

 
Fwpg;G 01 - njhf;F ,Ug;Gf; fhyk;   
njhf;F ,Ug;Gf; 
fhyk; 

= ruhrup ,Ug;G x 
  365 ehl;fs;  tpw;gidf; fpuak;  

     

 = (125,400+105,000)/2 x      365    

  576,000        

 = 115,200 x      365   

  576,000        
                                  X       = 73 ehl;fs;   

 
Fwpg;G 02 - fld;nfhLj;Njhu; nrd;kjpf; fhyk;  
fld;nfhLj;Njhu; 
nrd;kjpf; fhyk; 

= ruhrupf; fld; nfhLj;Njhu;  x 365  
 *fld; nfhs;tdT  

    

 = (105,486+85,362)/2  x 365  

  596,400      

 = 95,424.00  x 365   

  596,400      

 = 58.4 ehl;fs;  
 

* fld; nfhs;tdT = 576,000 + 125,400 + 105,000 
              = 596,400 

(nkhj;jk; 5 Gs;spfs;) 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  III guPl;ir – [_iy 2023 

(302) Kfhik fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 
gFjp - A 

 



 

[Type text] 2      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak;; 01 – Kfhikf;fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

cwpQ;ry; fpua Kiwapy; ,yhgf; $w;W    

    &. 

tpw;gid 19,100*Rs.650   12,415,000 

(-) tpw;gidf; fpuak; myF fpuak;   
Muk;g ,Ug;G 1,500 490 735,000  
cw;gj;jp khWk; fpuak; 19,400 490 9,506,000  

 20,900  10,241,000  
,Wjp ,Ug;G 1,800 490    (882,000)  
tpw;gidf; fpuak;    (9,359,000) 

    3,056,000 
Fiw cwpQ;ry; 
Nke;jiyfs;    (2,600) 

nkhj;j ,yhgk;    3,053,400 

epiyahd fpuak;     
cw;gj;jpay;;yh 
Nke;jiyfs;   434,000 (434,000) 

,yhgk;    2,619,400 

 

W1 – myFf;fhd cw;gj;jp khWk; fpuak;  

                             &.  
Neu; %yg;;nghUs;                          325   
Neu;f; $yp                          150   
khWk; Nke;jiyfs;                             15   

                           490  
   
W2 – Nke;jiy cwpQ;ry;fspd; kpif / Fiw Vw;ghL  

  &. 

cz;ikahd Nke;jiy  293,600 

Nke;jiy cwpQ;ry; &.15/- * 19,400 myFfs; 291,000 

Nke;jiy Fiw cwpQ;ry;  2,600 

 

Nke;jiy cwpQ;ry; tPjk;  = 
270,000

18,000
   = 15 

 
 

 (05 Gs;spfs;) 
 

 
 
 



 

[Type text] 3      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu;g;ghjPly; 

 

 

ngUk;ghYk; ek;gpf;ifahdJ 

(100,000 kg) 

kpfr;rpwe;j #oypy; 

 (145,000 kg) 

ghjfkhd #o;epiyapy; 

(94,000 kg) 

tpw;gid 
tUkhdk; 100,000*Rs.350 35,000,000 145,000*Rs.400 58,000,000 94,000*Rs.300 28,200,000 

khWk; 
fpuak; 35,000 x 35% (12,250,000) 58,000 x 32% (18,560,000) 28,000 x 38% (10,716,000) 

gq;fspg;G  22,750,000  39,440,000  17,484,000 

epiyahd 
fpuak;  (8,000,000) 8,000,000*90% (7,200,000) 8,000,000*110% (8,800,000) 

,yhgk;  14,750,000  32,240,000  8,684,000 

 (nkhj;jk; 05 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak; 04 - epakf; fpuatpay; kw;Wk; Kuz; gFg;gha;T 

 

(a) 
 epakf; fpuatpay; ghjPLfis jpl;lkpLtjw;fhd xU fUtp> kw;Wk; fpuaq;fis 

fl;Lg;gLj;j kw;Wk; Kfhik nra;a> kw;Wk; Kfhikapd; tpidj;jpwid mstPL 

nra;afpwJ. 

 epakf; fpuatpay; Kiwik nraw;ghLfis jpl;lkpLtjw;Fk; fpua kl;lk; kw;Wk; 

,yhgk; kPjhd Kifikj; jPu;khdq;fspd; rhj;jpakhd jhf;fj;ij gw;wpa 

Ez;zwpitg; ngw cjTfpwJ.  

 epakf; fpuatpaiy gad;gLj;Jtjd; gpujhd Nehf;fkhdJ cw;gj;jpf; fpuakply;> 

fpuaj;;ij fl;Lg;gLj;jy; kw;Wk; jPu;khdnkLj;jYf;F gad;gLj;j KbAk;.  

(b) 
 Kuz;fspd; ru;r;irf;Fupa nghUz;ikahd msT 

 rpy Kuz;fSf;F mwpf;ifapl Kbahik 

 rpy Copau;fspd; Fiwe;jstpyhd kdTWjp 

 epak %yg;nghUspd; tpiyaply; jPu;khdnkLf;Fk; NghJ mjd; tpiyfs; gUtfhy 

jhf;fk; kw;Wk; ghupa nfhs;tdtpy; ngwg;gl;l fopTfs; %yk; khw;wkilayhk;. 

 epakj;jpid epWTtjw;F mjpf Neuk; nrytopf;Fk; nraw;ghL> NghjpasT Neuk; 

epakj;ij epWTtjw;F Njitg;gLk;.  

 epakj;ij cUthf;Ftjw;Fk;> guhkupg;gjw;Fk; nryTfs; Vw;gLk;.  

 epakq;fspd; cz;ikj;jd;ik NgZjy; kw;Wk; ,w;iwtiuahd GJg;gpj;jy; 

mtrpak;. 

(05 Gs;spfs;) 

 

 
gFjp B KbT 

 



 

[Type text] 4      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 %d;W (03) fl;lha tpdhf;fs; (30 Gs;spfs;) 

 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu;g; ghjPly; 

 
fhRg;ghjPL [_iy-23 Mf];l-23 nrg;nuk;gu;-23 
ngWtdTfs;    
Kw;gz ngWtdT –(W1) 1,750,000 750,000 900,000 

,Wjp ngWtdT – (W1) 1,000,000 1,300,000 1,750,000 

tl;b tUkhdk; @ 6% 1,000 7,205 11,441 

nkhj;j tUkhdk; 2,751,000 2,057,205 2,661,441 

    
nfhLg;gdTfs;    
fld;nfhLj;Njhu; nfhLg;gdT – (W2) 1,000,000 700,000 800,000 

tpepNahff; fl;lzk; (W3) 300,000 300,000 390,000 

rk;gsk; 180,000 180,000 180,000 

epu;thf nryTfs; – (W4) 30,000 30,000 30,000 

nkhj;j nfhLg;gdT 1,510,000 1,210,000 1,400,000 

Njwpa fhRf;nfhLg;gdT 1,241,000 847,205 1,261,441 

khj Muk;gj;jpYs;s kPjp 200,000 1,441,000 2,288,205 

khj ,WjpapYs;s kPjp 1,441,000 2,288,205 3,549,646 

 

W1 – Kw;gz kw;Wk; ,Wjp ngWtdT [_iy-23 Mf];;-23 nrg;-23 xf;-23 neht.-23 

tpw;gid  2,000,000 2,600,000 3,500,000 1,500,000 1,800,000  

Kw;gz ngWtdT 50% 1,750,000 750,000 900,000   
,Wjp ngWtdT 50% 1,000,000 1,300,000 1,750,000   

      
W2 - fld;nfhLj;Njhu; nfhLg;gdT [_d;-23 [_iy-23 Mf];;-23 nrg;-23  
nfhs;;tdT 1,000,000 700,000 800,000 800,000  
30 ehl;fs; fld;fhyj;Jld; 
fld;nfhLj;Njhu; nfhLg;gdT  1,000,000 700,000 800,000  

      
W3 - tpepNahff; fl;lzk; [_d;-23 [_iy-23 Mf];;-23 nrg;-23  
tpepNahff; fl;lzk;@ 15% 300,000 300,000 390,000 525,000  
30 ehl;fs; fld;fhyj;Jld; 
nfhLg;gdT  300,000 300,000 390,000  
 

 

 

 

      

gFjp - B 



 

[Type text] 5      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

W4 - epu;thf nryTfs; [_d;-23 [_iy-23 Mf];;-23 nrg;-23  
epu;thf nryTfs; 30,000 30,000 30,000 30,000 

 
fhRf; nfhLg;gdT @ 20% 6,000 6,000 6,000 6,000  
30 ehl;fs; fld;fhyj;Jld; 

nfhLg;gdT @ 80%   24,000 24,000 24,000 
 

nkhj;j nfhLg;gdT 6,000 30,000 30,000 30,000  
(nkhj;jk; 10 Gs;spfs;) 

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 01 - Kfhikf;fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w 
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 

%yg;nghUs;  A    

cw;gj;jp 
ghjPl;L 
myFfs; 

%yg;nghUs; A 

(Kg) 

nkhj;;j 

Njitg;ghLfs; Kg 

W 45,000 0.10 4,500 

  1,600/16,000  
X 40,000 0.20 8,000 

  3,200/16,000  
Y 15,000 0.25 3,750 

  4,000/16,000  
nkhj;;j Njitg;ghLfs;   16,250 

%yg;nghUs; A fpilg;gdT          (12,500) 

FiwghL   3,750 
    
%yg;nghUs;  B    

cw;gj;jp 
ghjPl;L 
myFfs; 

%yg;nghUs; B 

(Kg) 

nkhj;;j 

Njitg;ghLfs; Kg 

W 45,000.00 0.25 11,250 

  1,250/5,000  
X 40,000.00 0.20 8,000 

  1,000/5,000  
Y 15,000.00 0.15 2,250 

  750/5,000  
Njitahd nkhj;j myF   21,500 

nkhj;;j Njitg;ghLfs;   (24,000) 

Nkyjpfk;   (2,500) 

 
 
 
 



 

[Type text] 6      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 W X Y 

tpw;gid tpiy 3,900 5,400 6,500 

(-)khWk; fpuak;    
%yg;nghUs; A 1,600 3,200 4,000 

%yg;nghUs; B 1,250 1,000 750 

nraw;ghl;L Copau; 200 200 320 

nghjp nra;Ak; Copau; 40 40 40 

khWk; Nke;jiyfs; 100 120 150 

nkhj;j khWk; fpuak; (3,190) (4,560) (5,260) 

gq;fspg;G 710 840 1,240 

%yg;nghUs; A 0.10 0.20 0.25 

%yg;nghUs; A ,w;fhd 
gq;fspg;G 7,100 4,200 4,960 

epiy 1 3 2 

cw;gj;jp 
cw;gj;jp 
jpl;lkply; 

%yg;nghUs;  

A 

nkhj;jj 

Njit  Kgs 

W 45,000 0.10 4,500 

Y 15,000 0.25 3,750 

X 21,250 0.20 4,250 

   12,500 
(nkhj;jk; 10 Gs;spfs;) 

tpdh 07 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 05 - %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 
 

(a) Ke = D0  (1+g) 
+  g 

   P0 
      

 Ke = 8*(1+0.1) 
+  10% 

   35.2 
      

 Ke = 35%   
 

(02 Gs;spfs;) 

 
 
 
 

    
 
 

 
(02 Gs;spfs;) 

 
 
 

(b) Kp = D0 
* 100 

   P0 

     

 Kp = 2.10 
* 100 

   10 

     

 Kp = 21%  



 

[Type text] 7      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

(03 Gs;spfs;) 
(d) 

 

%yq;fs; 

re;ijg; ngWkjp 

&.. Mn 

epiwaspf;fg;gl;l 

ruhrup % 

fopTf; 

fhuzp % 

 

WACC 

rhjhuz 

gq;Ffs; 528 40% 35% 
14 % 

Kd;Dupikg; 

gq;Ffs; 400 30% 21% 
6.30% 

jdpr;rq;fs; 400 30% 18% 5.62% 

nkhj;jk; 1,328.00 
 

 25.86% 

 
 
 

 

 (03 Gs;spfs;) 

 (nkhj;jk; 10 Gs;spfs;) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(c) IRR = 

A + 

NPVa 

X (B-A) 

 

  
NPVa 

 

-  NPVb 

 
    

 
 

  

  = 
10% + 

31.32 
X 20% -10% 

  
 31.32 - (4.61) 

  
   

    

  = 0.10 + 0.8717 x 0.10  

  
      

 

  = 18.72%      

gFjp B KbT 
 



 

[Type text] 8      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 
 

 

tpdh 08 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 04 - epakf; fpuatpay; kw;Wk; Kuz; gFg;gha;T 
 
(a)  

Neu;g;nghUs; fpua Kuz;   =    cz;ik cw;gj;jp kPjhd epak fpuak; – cz;ikf;fpuak; 

                                      =   (1,000 x 26,000) – 26,010,400 

                          =   10,400 ghjfk; 

(02 Gs;spfs;) 
(b)  

     Neu; Copa tPj Kuz;   =   cz;ik kzpj;jpahyk; (epak tPjk; – cz;ik tPjk; ) 

                                cw;gj;jp   =  12,480 ( 800 – 825 )  

                                                        =   312,000 ghjfk; 

 
                          Jizf;$yp   =  41,600 ( 500 – 580 )  

                                                        =   3,328,000 ghjfk; 

 
nkhj;j Neu; Copa tPj Kuz =  312,000 A – 3,328,000 A  

                                                                =   3,640,000 ghjfk;  

 (02 Gs;spfs;) 
(c)  

    

 

   

 
 

 

   

 
 

 

   

  
 
 
 
 
 
 
 
 
 
 

 =    500   (40,560 -  41,600) 
 

 =    520,000 rhjfk ; 
 

gFjp - C 
 

  =    800   (13,520 -  12,480) 
 

Neu;f;$yp  
fyit Kuz ;   

 

 

= epak tPjk; [ (cz;ik kzp. X epak fyit) –  

(cz;ik kzp. x cz;ik fyit) ] 

 

 

cw;gj;jp         =    

 

 

  800   (54,080 x 0.5/2) -  (54,080 x 12,480 / 54,080) 
 

  =    832,000 rhjfk; 
 

Jiz              =    

 

 

  500   (54,080 x 1.5/2) -  (54,080 x 41,600 / 54,080) 
 



 

[Type text] 9      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 
 
 
(d)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Neu;f;$yp tpisT Kuz;      

Copau; 

epak kzp. 
epak 

fyit 

cz;ik 
kzp. 
epak 

fyit  

Kuz; 

kzpj;jpahyk;. 
epak 
tPjk; 

 tpisT 
Kuz;  

cw;gj;jp $yp 13,000 13,520 520A 800 416,000 gh 

 
0.5*26,000 

     
Jizf; $yp 39,000 40,560 1,560A 500 780,000 gh 

 
1.5*26,000 

     
nkhj;jk; 52,000 54,080 - 

 
1,196,000 gh 

 
(nkhj;jk; 10 Gs;spfs;) 

 

 

 

 

 

 

Nkhj;j Neu;f;$yp  

fyit Kuz;          =    832,000 rh – 520,000 gh    = 312,000 rh 
 

Neu;Copa  
tpidj;jpwd; Kuz;   

 

 

= epak tPjk;  [ (epak kzp.  x epak fyit) – (cz;ik kzp.  x cz;ik fyit] 

 

 cw;gj;jp             =    

 

 

 800   (52,000 x 0.5/2) -  (54,080 x  0.5 /2) 
 

  =     800   (13,000 -  13,520) 
 

nkhj;j Neu;Copa tpidj;jpwd; Kuz;  =    416,000 gh  – 780,000 gh    = 1,196,000 gh 

 

  =    416,000 A 
 

Jiz                =    

 

 

    800   (52,000 x 1.5/2) -  (54,080 x  1.5 /2) 
 

  =   500   (39,000 -  40,560) 
 
  =    780,000 gh 
 



 

[Type text] 10      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

tpdh 09 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 06 - %yjd KjyPl;L kjpg;gPL 
(a) 
,ae;jpuk; X 99 

( Rs.’000) 

 0 1 2 3 4 

Muk;g KjyPL (25,000) - - - - 

vr;rg;ngWkjp 4,000 - - - - 

tpw;gid 

- 50,000 

(100 x 500) 

56,000 

(100 x 1.12 x 

500) 

62,720 

(125.44 x 500) 

70,246 

(140.49 x 500) 

khWk; fpuak; 
- (18,000) 

(100 x 180) 

(20,160) 

(112 x 180) 

(22,579) 

(125.44 x 180) 

(25,288) 

(140.49 x 180) 

epiyahd fpuak; - (8,000) (8,000) (8,000) (8,000) 

tUkhd tup ( W-1) - (5,325) (6,477) (7,767) (9,212) 

Njwpa 
fhRg;gha;r;ry; 

(21,000) 18,675 21,363 24,374 27,746 

fopTf;f fhuzp @ 

20% 

1 0.833 0.694 0.578 0.482 

Njwpa epfu 
ngWkjp 

(21,000) 15,556 14,826 14,088 13,373 

 

 

NPV = 36,843 

 
nra;Kiwfs; : (W – 1) tUkhd tup                                                                              (&..’000)  

 

 1 2 3 4 

Nja;khdj;jpw;F Kd; 

,yhgk;. 
24,000 27,840 32,141 36,958 

%yjdf; nfhLg;gdT (6,250) (6,250) (6,250) (6,250) 

 17,750 21,590 25,891 30,708 

tup @ 30% 5,325 6,477 7,767 9,212 
 

 

 
 
 
 
 
 
 
 
 
 
 
 



 

[Type text] 11      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 
,ae;jpuk;  Y 23 

 
NPV  = 37,183 
 
nra;Kiwfs; : (W – 1) tUkhd tup 

 1 2 3 4 5 

,yhgk; 24,200 28,064 32,392 37,239 42,667 

%yjdf; nfhLg;gdT (10,000) (10,000) (10,000) (10,000) - 

 14,200 18,064 22,392 27,239 42,667 

tup @ 30% 4,260 5,419 6,718 8,172 12,800 

 (12 Gs;spfs;) 
(b)  
 

 
,ae;jpuk;  X99 ,ae;jpuk;  Y23 

NPV 36,843 37,183 

tUlhe;j fhuzp 2.5887 2.9906 

1-(1+r) ^-n/r 
  

tUlhe;j NPV 14,242 12,440 

 
,ae;jpuk;  X99 ,y; KjyPL nra;a gupe;Jiuf;fg;gLfpd;wJ.  
 

 (03 Gs;spfs;) 
(nkhj;jk; 15 Gs;spfs;) 

 
 
 
 

 0 1 2 3 4  
Muk;g KjyPL (40,000) - - - -  
vr;rg;ngWkjp 4,000 - - - -  

tpw;gid 
- 50,000 

 
56,000 

 
62,720 

 
70,246 

 
78,675 

(157.35 x 
500) 

khWk; fpuak; 
- (17,800) 

(178 x 
100) 

(19,936) 
(178 x 112) 

(22,328) 
(178 x 

125.44) 

(25,007) 
(178 x 

140.49) 

(28,008) 
(157.35 x 

178) 
epiyahd fpuak; - (8,000) (8,000) (8,000) (8,000) (8,000) 

 (36,000) 24,200 28,064 32,392 37,239 42,667 

tUkhd tup ( W-1) - (4,260) (5,419) (6,718) (8,172) (12,800) 

 (36,000) 19,940 22,645 25,674 29,067 29,867 

fopTf;f fhuzp  @ 
20% 

1 0.833 0.694 0.578 0.482 0.4018 

Njwpa epfu ngWkjp (36,000) 16,610 15,716 14,840 14,016 12,001 



 

[Type text] 12      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

tpdh 10 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
      (A) 

mj;jpahak; 02 - nra;Kiwf; fpuatpay; kw;Wk; vz;fzpj fpuatpay; 

 myFfs; &.  myFfs; &. 

Muk;g  WIP 3,460 3,615,370 ,Wjp WIP 3,100 3,528,730 

Neu; 
%yg;nghUs; 

25,000 20,350,000 rhjhuz 
el;lk;  

1,500 315,000 

Neu;f; $yp - 8,547,000 KbTg; 
nghUl;fs; 

23,700 31,023,300 

Nke;;jiyfs; - 2,564,100 mrhjhuz 
el;lk; 

160 209,440 

 28,460 35,076,470  28,460 35,076,470 

 
rkg;ghl;L myFfs; kw;Wk; fpuaj;Jf;fhd $w;W 

 %ygnghUs; $yp Nke;jiyfs; nkhj;jk; 

mrhjhuz el;lk; 160 160 160 160 

KbTg; nghUl;fs; 23,700 23,700 23,700 23,700 

,Wjp WIP 3,100 2,170 1,240 - 

rkg;ghl;L myFfs; 26,960 26,030 25,100  

fpuak;     

       Muk;g  WIP 2,800,120 693,650 121,600 - 

       khjj;Jf;fhdJ 20,350,000 8,547,000 2,564,100 - 

      rhjhuhz el;lk; (315,000) - - - 

 22,835,120 9,240,650 2,685,700 - 

myFf;fhd fpuak; 847 355 107 =  1,309 

 
,Wjp WIP 
 

%ygnghUs;    847 x 3,100   =  2,625,700 

Ne.$                355x 2,170     =     770,350 

Nk.fp                107 x 1,240    =     132,680 

                                                      3,528,730 
 (14 Gs;spfs;) 

(B) 
mj;jpahak; 01 - Kfhikf;fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w epiyapyhd 
jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 (a) 
  W1 W2 

02 re;ij Muha;r;rp Sunk cost Sunk cost 

03 re;ijg;gLj;jy; ghjPL 5,000,000 5,000,000 

04 rk;gsk; 5,000,000 6,000,000 
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05 gapw;rp 2,100,000 2,400,000 

06 ,ae;jpu thlif 15,050,000 18,650,000 

07 Vida epiyahd fpuak; 4,500,000 4,900,000 

  31,650,000 36,950,000 

 
 (05 Gs;spfs;) 

(b)                                                                                                                                              
,izf;fg;gl;l tpiy> 

tUkhd tPjk; 
= 

,ize;j gq;fspg;G 
X 100 

,ize;j tpw;gid 

 
 

 

  

 

 = 
3,820 

X 100 
 

9,550 
    

 = 40%      
,yhgel;lkw;w Gs;sp 

tpw;gid 
= 

epiyahd fpuak;  
,iz. tpiy> tUkhd tPjk;      

 = 
68,600,000 

 

 40.00%      

 = 171,500,000      

 

 
cw;gj;j
p  

,yhgel;lkw;w 
Gs;sp tpw;gid 

 W1 171,500,000*5,800/9,550 104,157,068 

 W2 171,500,000*3,750/9,550 67,342,932 

   171,500,000 

 
nra;Kiw 

   

 W1 W2  
tpw;gid tpiy 2,900.00 3,750.00  
%yg;nghUs; (900.00) (1,336.00)  
$yp  (500.00) (600.00)  
khWk; Nke;jiy (315.00) (364.00)  

 1,185.00 1,450.00  
tpw;gid tpfpjk; 2.00 1.00  
,ize;j tpw;gid 5,800.00 3,750.00 9,550.00 

,ize;j gq;fspg;G 2,370.00 1,450.00 3,820.00 

 
(06 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;) 
 
 gFjp C KbT 

 

=                       (1,185 x 2) + (1,450 x 1) 
(2,900 x 2) + (3,750 x 1) 
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Notice:  

These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute 
part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 
fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their 

understanding as well as stay relevant in the art of answering questions at examination level.  
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